


1 098290 1 ASM MOTOR STEPPER 

2 098941A 1 HOUSING GOVERNOR CONNECTOR 

3 098958A REF CONNECTOR INTERFACE ASSEMBLY 

4 098942A 1 COVER CONNECTOR HOUSING 

5 098225 2 SCREW FHM #2 X 5/8 SELF TAP 

6 043146 3 SCREW HHC M6-1.0 X 10 G8.8 

7 022097 5 WASHER LOCK M6-1/4 

8 084543A 1 SCREW PHM M3-0.5 X 12MM 

9 098783 1 LEVER STEPPER MOTOR 

10 037398 2 NUT LOCK HEX #10-32 NYL INS 

11 0E1326 1 ASSY. CARBURETOR LINKAGE ROD 

12 0G4451 1 BRACKET STEPPER MOTOR COOLANT 

13 064526 1 SCREW TAP HWH #6-25 X 3/8 ZINC 

14 029333A 10 TIE WRAP 7.4"X.19" BLK UL 

15 022507 2 SCREW HHC 1/4-20 X 1/2 G5 

16 0E1694 1 SPRING ANTI LASH 

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

 


